Strong 1 NT Opener: Game-Going or Better Response

Board 1 & AQ92
North Deals v K72
None Vul ¢ AK86
& 65
& J543 N & K7
v A103 W E v J654
¢ 1095 ¢ J742
& 1097 S . 32
& 1086
v Q98
¢ Q3
& AKQ84
NS5N; NS54: NS4y : NS58: NS4¢ ;: Par +460: NS 3N+2
West North East South
INT Pass 3N
All pass

South, with a game going hand and not enough for slam, simply bids 3 NT.
If the partnership plays puppet stayman, the bidding will go:
W N E S
IN P 3&
P 3¢ P 3N
3% partner, do you have a4 or 5 card major?
3¢ : has1or both 4 card mgors
3N: does not have a4 card major
Notes on the play: East could lead 4th best heart or diamond. If a diamond, duck in dummy to
keep your sure entry, win with the ¢ A then try the clubs. When they split 3-3 leave the good
ones in dummy (remember you still have adummy entry with ¢ Q) and try running the 4 10 to
set up overtricks. Or lead alow ¥ to guarantee a 10th trick.

What if clubs split 5-1? Your plan...?

What if they split 4-2? Your plan...?



Strong 1 NT Opener: Game-Going or Better Response
Board 2 o KJ76
East Deals v QJ3
N-SVul ¢+ K9
& J432
& A3 N 4 1084
v K962 W E v A74
¢ Q103 ¢ AJ75
£ Q1095 Sl . AKS
& Q952
v 1085
¢ 8642

& 76

EW 5v; EW 4N; EW 4¢ ; EW 44; EW 24 ; Par —450: EW 4v +1

West North East South

INT Pass
2% Pass 2¢ Pass
3NT All pass

West tries to find afit for hearts but settles for 3 N when the partner denies a4 card major
Puppet auction:

W N E S

IN P
34 P 3N P
P P

3% partner do you have a4 or 5 card major?
3N: neither

Note on the play: Southison lead. What isthe likely lead? # 2 Why? East hasdenied a4 or 5
card mgjor. Best plan isto attack a major suit.

What can East learn from the lead?. If the# 2 isthe lead, East can expect the spades are split 4-4
(assuming normal leads). Then it will be safe to try the diamond finesse right away. If it wins
they have 10 tricks. If it loses the opps can only take 3 spade tricks , and East will still have 9
tricks



Strong 1 NT Opener: Game-Going or Better Response
Board 3 & KJ9
South Deals v Q652
E-W Vul ¢ A75
% 1052
4 A10653 N & 72
v K43 w ElN 108
¢+ Q64 ¢ 1032
2 Q3 B . k19876
4 Q84
v AJ97
¢ KJ98

& A4

NS4N; NS4y ; NS4¢ ; NS 24 ; EW 1&; Par +430: NS3N+1

West North East South
INT
Pass 2& Pass 2v
Pass 4v All pass
Puppet auction:
W N E S
IN
P3& P 3¢
P 34 P A4v
al pass

3% partner do you have a4 or 5 card major?
3¢ : | have one of both 4 card mgjors

34 : | have 4 hearts

4v:sodol!

Note: some people with the North hand (3-4-3-3) will just bid 3 NT because it has no ruffing
potential. It's a matter for partnership agreement.



Strong 1 NT Opener: Game-Going or Better Response
Board 4 4 A8
West Deals v K74
Both Vul ¢ 6432
# Q1095
4 932 N &« KQ765
vy AQJS W £ v 93
¢ K95 ¢ AJ108
& A4 s o XY
& J104
v 10652
¢ Q7
& K876

WO5N; W5a:E446: E3N: W5¢:EW3v:E4¢: EW 1&;
Par —660: W 3N+2

West North East South
INT Pass 2v Pass
24 Pass 3NT Pass
44 All pass

Puppet doesn't apply with this hand

After the transfer, East bids 3 N to give partner the choice of games. With 3 card support West
bids the spade game.



Strong 1 NT Opener: Game-Going or Better Response
Board 5 & KQ8
North Deals v K96
N-SVul ¢+ K8
& A10742
4 65 N & J107
v 105 w el 7432
¢ J97643 s ¢ Q52
& 853 * KQ6
4 A9432
v AQJS
¢ A10
& J9

NSON; NS64;: NS6Y: NS58: NS 1¢ ; Par +1440: NS 6N=

West North East South
INT Pass 2&
Pass 24 Pass 3y
Pass 44 Pass 4N
Pass 54 Pass 6o
All pass
Puppet would not apply here

3v; | have 4 hearts and 5 spades, game going hand

4 & : | have 3 card spade support (option: bid 3 4, South will bid4 ¢ or 4 N if interested in slam)
4 N: keycard for spades (yes you have a useless doubleton, but partner has a strong hand)

5 & : 2 keycards plus the trump Q. South can bid 6 with confidence

Can they get to 6N? Over 54 South can bid 5 N to ask for Kings. North will show two and
South can bid 6 N

Will cue bidding help here? Yes if your cue bids show 1st or 2nd round control.



Strong 1 NT Opener: Weak 5 - 5 Response

Board 6 o A8
East Dedls v Q4
E-W Vvul ¢ K87
#J107643
& QJ754 N 4 K103
v 109853 W E v AJ7
¢ 4 ¢ AQJ102
& Q0 S L. 50
4 962
vy K62
¢ 9653
& AKS8

EW 24 ; EW 2v; NS1IN; NS2%; EW 1¢ ;
Par —100: NS 2Nx—1; NS 3# x—]

West North East South
INT Pass
2v Pass 24 All pass

West, with 5-5 in teh mgjors and aweak hand, transfersto their best major nad passes



Strong 1 NT Opener: 5 - 5 invitational Response

Board 7 4 Q8432
South Deals vy QJ742
Both Vul ¢ 74
L3N
4 65 N & J107
v K65 W E v 1093
¢ A1052 ¢ KQJ8
& K987 S 542
& AK9
vy A8
¢ 963
& AQ1053
NS 4e: NS4v: NS2N;: NS 2&: Par +620: NS4y =; NS 44 =
West North East South
INT
Pass 24 Pass 2v
Pass 24 Pass 44
All pass

Maybe this hand is semi-invitational :)

With 15 points South would pass 2 spades



Strong 1 NT Opener: Texas transfer

Board 8 & Q98
West Deals v3
None Vul ¢ A10974
& 9764
o A72 N & KJ5
v Al W E vy Q107654
¢ K8652 ¢+ 3
& K32 Sl . QU8
& 10643
vy K982
¢ QJ
® A105
EW 4v; EW 3N; EW 24 ; EW 1¢ ; EW 1%; Par —420: EW 4v =
West North East South
INT Pass 4¢ Pass
4v All pass

If you play Texas transfers, the above auction applies. Even with 9 HCPs your distribution makes
game in hearts the best place to play

If you don't play Texas:

W N E S
IN P 2¢ P
2y P 4y P
P P



Strong 1 NT Opener: Game-Going or Better Response

Board 9 o AK93
North Deals vy K1032
E-W Vul ¢+ QJ
* Q94
& 108 N & 642
v QJ94 W E v 875
¢ K42 ¢ A9653
+11073 Sl . A6
& QJ75
vy A6
¢ 1087
& K852
NS 4e: NS2N; NS2v: NS3&: NS 1¢ ; Par +420: NS 44 =
West North East South
INT Pass 2%
Pass 2y Pass 3N
Pass 44 All pass

South bids 2 # Stayman, North, with 4 cardsin each major, bids 2 ¥ . South bids 3 NT. Now
North, knowing that South has 4 spades, bids the spade game

Puppet Stayman:

W N

IN
P 3¢
P 44
P

T UoTom
w
g

3¢ : | have one or both 4 card mgjors
3v: | have 4 spades

44:350dol!



